Jey Bl AN 2 SCHh B eR BB 1R

Hl1. (1) f(x)=ﬁ, 2(x)= £ (D(x=D+ f(), FEZEH £(0)=g(0).
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g(x) = f'(%)(x—§)+f(§) | FERGEH £(0)= g(0) -
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fi2. f(x)=ﬁ,g(x)=f’(2)(x—2)+f(2), ERIEA f(0)=g(0) -
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3. f(X)=3_£x,g(X)=f'(l)(x—l)+f(l)’ R £(0)=g(0) -
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5] 4. X)=————,gx)=F'D(x-D+ fQ), F=E f(=)=g(>)-
S0 =7 g0 = =D+ /) f=26)
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#ls. f(x)= ?}_i);, g(x)=x, g(x)2& f(x)E (0, £(0),Q, £(1)) FHAfE k.,
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W6 f(x) =«/2—fx, g()= £ W)(x=1)+f(1), EBEH £(0)=g(0).
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Bl 8. f(x)=3x +%, gx) = M(x=1)+ (1), HEEHFLE x, ~0.0052347 < é 173

S (%) =g(x,) -
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Bl 9. £(x)=6x -2, g(x) = f'(i)(x—%)+ f(%), f%&%% o) . f(x) 7
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f110. f(x)= 3
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(3-2x)’

pris. fx)= 77 —orag =S ME=D+ /D)
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#il16. f(x)= +1,g(x):f'(§)(x—§)+f(§), h(x)zl—g, x=—=72 f(x) KR
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